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B.Sc-406-G   [ ¬ÛÀ¬ı˛¬ı˛ ¬Û‘á¬±˚˛ ^©Ü¬ı… B.Sc-406-G 

¶ß±Ó¬fl¡ ¬Û±Í¬Sê˜  ( B.D.P.) 
ø˙é¬±¬ı¯∏«±ôL ¬Û¬ı˛œé¬±  ( Term End Examination )  

øÎ¬À¸•§¬ı˛, 2014 › Ê≈√Ú 2015 

‹ø26√fl¡ ¬Û±Í¬Sê˜ ( Elective ) 

õ∂±Ìœø¬ı√…± ( Zoology ) 
¬Û=˜ ¬ÛS [ 5th Paper : Animal Diversity-II 

(Chordates ) ] 
¸˜˚̨ – ≈√̋ ◊√√ ‚KI◊± ¬ Û”Ì«̃ ±Ú – 50 

Time : 2 hours Full Marks : 50 
[ ˜±ÀÚ¬ı˛ &èQ – 70% ] 

Weightage of Marks : 70% 
¬¬Ûø¬ı˛ø˜Ó¬ › ˚Ô±˚Ô Î¬◊M√√À¬ı˛¬ı˛ Ê√Ú… ø¬ıÀ˙¯∏ ˜”˘… Œ√›˚˛± ˝√√À¬ıº 

’qX ¬ı±Ú±Ú, ’¬Ûø¬ı˛26√ißÓ¬± ¤¬ı— ’¬Ûø¬ı˛©®±¬ı˛ ˝√√ô¶±é¬À¬ı˛¬ı˛ Œé¬ÀS Ú•§¬ı˛ 
Œfl¡ÀÈ¬ ŒÚ›˚˛± ˝√√À¬ıº Î¬◊¬Û±ÀôL õ∂Àùü¬ı˛ ˜”˘…˜±Ú ¸”ø‰¬Ó¬ ’±ÀÂ√º 

Special credit will be given for precise and correct 
answer. Marks will be deducted for spelling 

mistakes, untidiness and illegible handwriting. 
The figures in the margin indicate full marks. 

1º Œ˚-Œfl¡±ÀÚ± ≈íøÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 10 × 2 = 20 

 [fl¡]  ¸±˝◊√√Àflv¡±Àà±˜±È¬± Œ|Ìœ¬ı˛ ‰¬±ø¬ı˛øSfl¡ ∆¬ıø˙©Ü… Î¬◊√± √̋√¬ı˛Ì¸ √̋√ 

ø˘‡≈Úº ŒSê±Àfl¡±øÎ¬ø˘˚˛± › ø‰¬À˘±øÚ˚˛± ¬ıÀ·«¬ı˛ ¬Û±Ô«fl¡… 

Î¬◊√± √̋√¬ı˛Ì¸˝√√ ø˘‡≈Ú º [4 + 1] + [4 + 1] 

 [‡¡]  fl¡Î¬±«È¬± õ∂±Ìœ¬ı˛ Î¬◊»¬ÛøM√√ õ∂¸Àe ·±¬ı˛à…±— ›  ŒÊ√ÀÙ¬ø¬ı˛¸-

¤¬ı˛ ˜Ó¬¬ı±√ ’±À˘±‰¬Ú± fl¡èÚº ŒÚ±ÀÈ¬±fl¡Î«¬ øfl¡ ∑  

   [4 + 4] + 2  

 [·¡]  Œ˜è√Gœ õ∂±Ìœ¬ı˛ ’…±›øÈ«¬fl¡ ’±À‰«¬¬ı˛ ø¬ı¬ıÓ«¬ÀÚ¬ı˛ 

Sê˜¬Û˚«±˚˛&ø˘ ø‰¬S¸˝√√ ’±À˘±‰¬Ú± fl¡èÚº 6 + 4  

 [‚¡]  ¬Û±˚˛¬ı˛±¬ı˛ Î¬◊¬ı˛(ÀSê¬ı˛ ·Í¬Ú ø‰¬S¸˝√√ ¬ıÌ«Ú± fl¡èÚº 

◊̋√√Î¬◊À¬ı˛±à±˝◊√√̆  › Œ‰¬ˆ¬¬ı˛Ú Œ¬ı±Ú øfl¡ ∑  

   [2 + 5] +  1
  

! 

1

2
 + 1

  

! 

1

2
  

2º Œ˚-Œfl¡±ÀÚ± øÓ¬ÚøÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 6 × 3 = 18 

 [fl¡¡]  ô¶Ú…¬Û±˚œ̨ õ∂±Ìœ¬ı˛ ¤fl¡øÈ¬ ’±√̇ « √±“ÀÓ¬¬ı˛ ·Í¬Ú ø‰¬S¸ √̋√ 

ø˘‡≈Úº  2 + 4   

 [‡¡]  ¬Û±˚˛¬ı˛±¬ı˛ ¬’¬ı¸±¬ı˛Ìœ¬ı˛ ·Í¬Ú ø‰¬S¸˝√√ ¬ıÌ«Ú± fl¡èÚº 2 + 4 

 [·¡]  õ≠…±fl¡À˚Į̂¬ › ¸±˝◊√√flv¡À˚Į̂¬ ¬’“±À˙¬ı˛ ¬Û±Ô«fl¡… ø‰¬S¸ √̋√ 

ø˘‡≈Úº 2 + 4  
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 [‚¡]  ¬Œ¸KC±À˜¬ı˛ øˆ¬øM√√ÀÓ¬ fl¡À˙èfl¡±¬ı˛ õ∂fl¡±¬ı˛Àˆ¬√ ’±À˘±‰¬Ú± 

fl¡èÚº 6   

 [„√√¡]  fl¡…±À˘±øÈ¬À¸¬ı˛ ‡±√…¢∂̋ √√Ì › ¬Ûø¬ı˛¬Û±fl¡¬ ¬ÛXøÓ¬ ø˘ø¬Û¬ıX 

fl¡èÚ º 2 + 4 

 [‰¬¡]  ’ø¶ö˚≈Mê√ ˜±ÀÂ√¬ı˛ ù´¸Ú ¬ÛXøÓ¬ ’±À˘±‰¬Ú± fl¡èÚº 

Œ¬ı˛øÈ¬ø˜¬ı˛±ø¬ıø˘ øfl¡ ∑ 4 + 2   

3º  Œ˚-Œfl¡±ÀÚ± ‰¬±¬ı˛√øÈ¬  õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 3 × 4 = 12      

 [fl¡] ¤À`¬±à± ◊̋√√̆  øfl¡ ∑ ¤¬ı˛ fl¡±Ê√ øfl¡ ∑  2 + 1 

 [‡] ø¬ı˛ÀÇ±À¸Ù¬±ø˘˚˛± › Œ¶®±˚˛±˜±È¬±¬ı˛ ˜ÀÒ… øÓ¬ÚøÈ¬ ¬Û±Ô«fl¡… 

ø˘‡≈Úº 3   

 [·] Ú¬ı˜ › √̇ ˜ fl¡À¬ı˛±øÈ¬fl¡ ¶ß±˚˛≈¬ı˛ Ú±˜, õ∂fl‘¡øÓ¬ › fl¡±Ê√ 

Î¬◊À~‡ fl¡èÚº 1
  

! 

1

2
 + 1

  

! 

1

2
   

 [‚] ¬Œ˜è√Gœ õ∂±Ìœ¬ı˛ ˘…±Sê±˝◊√√̃ ±˘ ¢∂øLö¬ı˛ ’¬ı¶ö±ÀÚ¬ı˛ ø‰¬ø˝êÓ¬ 

ø‰¬S ’ÇÚ fl¡èÚº 3  

 [„√√¡√√] ˜±Ú≈À¯∏¬ı˛ Ê√ij¶ö±Ú ¸•Ûøfl«¡Ó¬ ˜Ó¬¬ı±√ ≈√øÈ¬ ’±À˘±‰¬Ú± 

fl¡èÚº  1
  

! 

1

2
 + 1

  

! 

1

2
   

 [‰¬¬] Œ¬Û±È¬±«˘ ø˙¬ı˛± fl¡±Àfl¡ ¬ıÀ˘ ∑  ¤øÈ¬ fl¡˚˛ õ∂fl¡±¬ı˛ ∑ 2 + 1 

 [Â√¬¬] ’…±ø¸øÎ¬˚˛±¬ı˛ Ê√œ¬ıÚ ˝◊√√øÓ¬˝√√±À¸ é¬˚˛ ”̃̆ fl¡ ¬Ûø¬ı˛¬ıÓ«¬Ú&ø˘ 

ø˘ø¬Û¬ıX fl¡èÚ º  3 

 [Ê√] fl¡¬ı˛À¬Û±¬ı˛± Œfl¡±˚˛±øEÀÊ√ø˜Ú± øfl¡ ∑ fl¡¬ı˛¬Û±¸ fl¡…±À˘±¸±˜ 

øfl¡ ∑  1
  

! 

1

2
 + 1

  

! 

1

2
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( English Version ) 

1. Answer any two questions : 10 × 2 = 20 

 a) Write down the characteristic features 

of class cyclostomata with examples. 

Compare order chelonia with the order 

crocodilia with examples. 

   ( 4 + 1 ) + ( 4 + 1 )  

 b) Discuss Garstang's theory and 

Jefferie's theory of origin of chordate. 

What is notochord ? ( 4 + 4 ) + 2 

 c) Enumerate the gradual changes in the 

evolution of aortic arches in vertebrates 

with labelled diagram. 6 + 4 

 d) Describe, with suitable diagram, the 

pectoral girdle of pigeon. What are 

urostyle and chevron bones ? 

   ( 2 + 5 ) + ( 1
2

1  + 1
2

1  ) 

2. Answer any three questions : 6 × 3 = 18 

 a) Describe the structure of a typical 

mammalian tooth with proper diagram. 

   2 + 4 

 b) Narrate the cloaca of pigeon with 

labelled diagram. 2 + 4  

 c) Distinguish between placoid and 

cycloid scales with diagrams. 2 + 4  

 d) Describe different types of vertebrae on 

the basis of centrum. 6 

 e) Discuss feeding mechanism and 

digestion of food in calotes. 2 + 4  

 f) State the respiratory mechanism of a 

typical bony fish. What is rete    

mirabele ? 4 + 2  

3. Answer any four questions : 3 × 4 = 12 

 a) What is endostyle ? State its function. 

   2 + 1 

 b) Mention three differences between 

rhyncocephalia and squamata. 3   

 c) Mention the names, nature and 

functions of 9th and 10th cranial 
nerves. 1

2

1  + 1
2

1    

 d) Draw a labelled diagram of the position 

of lacrymal gland of vertebrates. 3  
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 e) Narrate two theories regarding the 
place of origin of man. 1

2

1  + 1
2

1   

 f) What is portal vein ? How many types 

of it ? 2 + 1  

 g) State the retrogressive changes in the 

life history of Ascidia. 3 

 h) What is corpora quadrigemina ? What 
is corpus callosum ? 1

2

1  + 1
2

1    
    


